2017

? (2017.10.11)

(2 )



2017-10-11

503,033,000

2017

403,119,000

503,033,000

1 2017-10-11




- 2017

75,849 388,596 77.2
228 3,528 0.7 /

23,667 91,578 18.2

170 4,306 0.8

0 15,025 2.9

3/21



SCRIPT ERROR

(
C )
392,124 316,047 76,077
388,596 312,747 75,849
388,506 312,747 75,849
1. 388,506 312,747 75,849
192,662 192,662 0
195,934 120,085 75,849 ¢ ) 13,792,000
. (25,872,000 x 1 ) - 12,080,000 =
« 4
(2,191,000 x 1 ) - 973,000 = 1,218,000
(
(21,861,000 x 1 ) - 9,834,000 = 12’027’000
( ) © (4,779,600 1,810,000
x 1 )-2,970,000 =
( ) © (8,171,650 3,392,000
x 1 ) - 4,780,000 =
( ) : (11,610,480 3,439,000
x 1 )-8,172,000 =
( ) : 3,840,000
(9,600,000 x 1 ) - 5,760,000 =
( ) ( ) - 9,138,000
(24,368,000 x 1 ) - 15,230,000 =
( ) © (3,183,000 1,063,000
x 1 ) -2,120,000 =
( ) © (3,481,000 208,000
x 1 )-3,183,000 =
( ) D (21,690,000 0 o oo
x 1 ) - 10,845,000 =
( ) - 980,000 x 1 980,000
E ) - 600,000 x 1 600,000
( )2017 300,000
300,000 x 1 =
( ) ) - 52,000 x 1 52.000
( ) 660,000
1 660,000 x 1 =
( ) 1,357,000
- 1,357,000 x 1 =
2017 ( 7,500,000
) : 7,500,000 x 1 =
( ) 164,000
: 164,000 x 1 =
( ) 3,374,000
: 3,374,000 x 1 =
3,528 3,300 228
3,528 3,300 228
‘1_ 3,528 3,300 228
1 2017-10-11




SCRIPT ERROR

(
)
3,528 3,300 208 ¢ )2017. 228,000
1 113,700 x 2 x1 =
95,884 72,047 23,837
91,578 67,911 23,667
91,578 67,911 23,667
48,336 48,336 0
46,401 46,401 0
1,935 1,935 0
31,290 16,605 14,685
31,200 16,605 14,685 ¢ ) ( ) - 3,840,000
3,840,000 x1 x1 =
( ) ( ) - 10,845,000
10,845,000 x1 x1 =
341 0 341
341 0 341 : 341,000
113,540 x3 x1 =
11,611 2,970 8,641
11,611 2,970 8,641 ¢ ) ( ) - 1,809,600 1,810,000
x1 x1 =
( ) ( ) : 3,391,650 3,392,000
x1 x1 =
( ) ( ) : 3,438,480 3,439,000
x1 x1 =
4,306 4,136 170
2,100 2,000 100
2,100 2,000 100
2,100 2,000 100 : 100,000 x 1 = 100,000
2,206 2,136 70
400 400 0
400 400 0
1,806 1,736 70
1,806 1,736 70 270,000 x1 = 70,000
15,025 15,025 0
15,025 15,025 0
15,025 15,025 0

2 : 2017-10-11




SCRIPT ERROR

15,025

15,025

15,025 15,025 0

503,033 403,119 99,914

3 : 2017-10-11



SCRIPT ERROR

( : )
QD)
59,377 26,357 33,020
55,907 22,887 33,020
55,907 22,887 33,020
25,872 12,080 13,792
23,623 10,952 12,671 ( ) 3,167,640 12,671,000
x1 x4 =
2,249 1,128 1,121 ( ) 4 1,121,000
280,250 x1 x4 =
24,052 10,807 13,245
21,861 9,834 12,027 ( ) 12,027,000
2,004,360 x1 x6 =
2,191 973 1,218 ( ) 4 1,218,000
202,940 x1 x6 =
600 0 600
600 0 esoog6 ) 50,000 > 1 300,000
( ) 50,000 x 1 300,000
X 6 =
1,357 0 1,357
1,357 0 1,357 ( )2017 1,357,000
1,356,190 x1 x1 =
3,374 0 3,374
3,374 0 3,374 ( ) 3,373,690 3,374,000
x1 x1 =
652 0 652
652 0 652 306,000
50,850 x 2 x3 =
. 8,610 x1 x 20 173,000
) 8,315 x 1 x 16 134,000
. 6,470 x1 x6 39,000
3,470 3,470 0
3,470 3,470 0
900 900 0
900 900 0
360 360 0
360 360 0
2,210 2,210 0
1 - 2017-10-11




SCRIPT ERROR
: ( : )
)
2,210/ 2,210 0
142,456 101,085 41,371
62,360| 53,456 8,913
1. 62,360| 53,456 8,913
6,750 6,750 0
2,750 2,750 0
4,000 4,000 0
252 200 52
252 200 52 g L i i} 51,760 52,000
45,932 44,571 1,361
45,932 44,571 1,361 € i} ) 1,063,000 x1 =1 1,063,000
5 ) 208,000 x1 x1 298.000
1,035 1,935 0
1,935 1,935 0
7,500 0o 7,500
7,500 0 7,500 7,500,000 =1 >x1 7,500,000
10,208| 10,304 -6
1.0 8,223 8,229 -6
4,645 4,650 5
500 500 0
2,755 2,760 - (10,000 x 30 =1 ) - -75,000
375,000=
70,000 x 1 x1 = 70,000
700 700 0
690 690 0
287 289 2
287 289 2 (2.3,5,6 ) (990 x22 x1 ~2,000
) - 24,000=
1,79 1,790 0
1,79 1,790 0
2 - 2017-10-11




SCRIPT ERROR

2 ( )
)
4. 1,501 1,500 1
450 450 0
1,051 1,050 1 (200,000 -2,000
x2 x1 ) - 402,000=
3,000 x1
x1 = 3,000
2,075 2,075 0
1. 775 775 0
775 775 0
2. 700 700 0
700 700 0
3. 600 600 0
600 600 0
67,269 34,805 32,464
24,368 15,230 9,138
1. 19,792 12,370 7,422
19,792 12,370 7,422 (¢ ) 7,422,000
7,422,000 x1 =
2. ') 4,576 2,860 1,716
4,576 2,860 1,716 ( ) 1,716,000
1,716,000 x1 =
31,290 16,605 14,685
1. 31,290 16,605 14,685
31,290 16,605 14,685 ( ) 3,840,000
3,840,000 x1 x1 =
( ) 10,845,000
10,845,000 x1 x1 =
11,611 2,970 8,641
1. 11,611 2,970 8,641
11,611 2,970 8,641 ( ) 1,809,600 1,810,000
x1 x1 =
( ) 3,391,650 3,392,000
x1 x1 =
( ) 3,438,480 3,439,000
x1 x1 =
2,520 2,520 0
2,520 2,520 0

3 : 2017-

10-11




SCRIPT ERROR

2 ( : )
)
1. 2,520 2,520 0
1. 2,520 2,520 0
54,496 50,337 4,159
44,474 39,427 5,047
4,048 5,260  -1,212
1 41 1,080,  -1,039
1 4 1,080 -1,08 o (30,000 x 18 x2 ) - -1,039,000
2. 1,567 1,500 67
1. 1,567 1,500 67 3,000 x22 x1 = 66,000
1,000 x1 x1 = 1,000
3. 1,440 1,680 -240
1. 800 1,000 200 (25,000 20 x2 ) - -200,000
1,200,000=
2. 640 680 -40 (10,000 x10 x2 ) - -40,000
240,000=
4. 1,000 1,000 0
1. 1,000 1,000 0
2,213 2,210 3
1. 501 540 -39
1. 501 540 -39 (100,000 x5 x1 ) - -40,000
540,000=
1,000 x1 x1 = 1,000
2. 397 470 73
1. 397 470 73 100 000 (6,000 x20 >1 ) - ~100,000
35,000 x1 x1 = 35,000
(10,000 x2 x1 ) 3000
- 23,000= ’
(50,000 x1 x1 ~5.000
) - 55,000= ’
3. 1,315 1,200 115
1. 1,315 1,200 115 11,500 x5 x2 = 115,000
1,266 1,850 -584
1. 251 450 -199

2017-10-11




SCRIPT ERROR

( )
)
251 450 -199 (15,000 x30 x1 ) - ~199,000
649,000=
0 200 -200
0 200 -200 (10,000 x 20 x1 ) ~200,000
- 400,000=
715 1,200 -85
715 1,200 -485 (100,000 =6 x2 ) ~485,000
- 1,685,000=
300 0 300
300 0 300/ ¢ ) 1,000 300,000
x 30 x10 =
36,947| 30,107 6,840
210 210 0
210 210 0
8,111 7,112 999
1,440 1,440 0
6,421 5,422 999 33,300 x10 x3 999,000
250 250 0
300 100 200
300 100 200 10,000 x1 x20 = 200,000
0 500 -500
0 500 -500 (50,000 10 -500,000
x 1 ) - 1,000,000=
500 500 0
500 500 0
825 825 0
825 825 0
550 550 0
550 550 0
1,000 1,000 0
1,000 1,000 0
1,200 1,200 0
1,200 1,200 0
5 - 2017-10-11




SCRIPT ERROR

( : )
)
10. 1,600 1,600 0
1,600 1,600 0
11. 500 500 0
500 500 0
12. 9,540 12,040  -2,500
9,540| 12,040  -2,500 (10,000 > 1 ~2,500,000
x 250 ) - 5,000,000=
13. 11,611 2,970 8,641
3,30 1,080  2,20¢ ) 30,000 x3 x1 90,000
C 30,000 x3 x 12 1,080,000
¢ 30,000 x3 x 12 080,000
8,281 1,890 6,391 ( ) 2,000 x15 x 60 = 1,800,000
( ) 2,000 x11 x 60 = 1,320,000
( ) 40,000 x 15 600,000
x 1 =
( ) 50,000 x5 500,000
X 2 =
( ) 50,000 x5 500,000
X 2 =
( ) 1,120,000
55,980 x 10 x 2 =
¢ 9 12,000
11,650 x1 x1 =
( ) 539,000
538,480 x 1 x1 =
14. 1,000 1,000 0
100 100 0
900 900 0
10,022] 10,910 -888
2,800 2,800 0
1. 1,500 1,500 0
1,500 1,500 0
2. 1,000 1,000 0
1,000 1,000 0
3. 300 300 0
6 - 2017-10-11




( : )
‘ )
‘1. 300 300 0
5,520 6,370 -850
1,648 3,070 -1,422
1. 1,648 3,070) 1,422 (600,000 x1 x2 ) - ~700,000
1,900,000=
(7,000 x30 x2 ) - 651,000= -231,000
(20,000 x30 x2 ) - 641,000
1,841,000=
150,000 x1 x1 = 150,000
3,308 3,300 8
1. 3,308 3,300 8 ( ) 20,000
20,000 x1 x1 =
( ) (8,000 -5.000
x19 x5 ) - 765,000 =
(8,000 x 19 14,000
x5 ) - 774,000=
( ) 3,000 30,000
x5 x2 =
1,900 x 10 19,000
x 1 =
1,000 x 1 1,000
x1 =
( ) -4,000
(29,000 x 19 x 1 ) - 555,000 =
( ) ( -17,000
) (900 x 19 x 2 ) - 52,000 =
( ) ( )
(1,200 x5 x2 ) - 18,000 = -6,000
( ) -18,000
(1,600 x20 x1 ) - 50,000 =
2,000 x1 2,000
x 1 =
564 0 564
1. 564 0 564 ( ) 93,000
46,500 x2 x1 =
138,000
34,500 x4 x1 =
13,100 131,000
x10 x1 =
( ) 90,000
9,000 x2 x5 =
67,000
6,700 x 10 x1 =
( ) 45,000
22,400 x2 x1 =
1,660 1,660 0
1,200 1,200 0

2017-10-11




SCRIPT ERROR

2 ( )
C )
1. 1,200 1,200 0
310 310 0
1. 310 310 0
150 150 0
1. 150 150 0
42 80 -38
42 80 38
1 42 80 -38 G ) (10,000 x8 x1 -38,000
) - 118,000=
43,865 33,385 10,480
39,565| 29,085 10,480
39,565| 29,085 10,480
3,280 3,280 0
1. 1,800 1,800 0
2. 1,300 1,300 0
3. 180 180 0
4,335 9,200 4,865
1. 3,980 7,200 -3,220 (30,000 x16 > 15 -3,220,000
) - 10,420,000=
2. 355 2,000 1,645 (50,000 x 10 x4 ) - -1,645,000
3,645,000=
') 21,600| 10,845 10,845
1. 11,550 6,582 4,968 ( ) (18,000 -1,500,000
x1 x11 x 19 ) - 5,262,000=
( ) ( ) 3,762,000
18,000 x 1 x 11 x 19 =
( ) (18,000 ~114,000
x1 x15 x2 ) - 654,000=
( ) ( ) 540,000
18,000 x1 x15 x2 =
( ) 30,000 x 1 2,280,000
X 4 x 19 =
2. 10,140, 4,263  5,877¢ ) 2,000 x8 x5 x2i 1,680,000
( ) 25,830 x5 2,583,000
x 20 =
80,700 x5 x4 = 1,614,000
«C ) 10,260 5,760 4,500
8 - 2017-10-11




( : )
)
1. 9,859 5,400 4,459 € ) 30,000 x1 3,600,000
x 12 x 10 =
12,950 x1 x2 258000
x 10 = ’
( ) 600,000
30,000 x1 x2 x 10 =
2. 401 360 a1 i , - ) 60,000 x 2 240,000
(60,000 x2 x2 ) - 250,000
499,000= ’
( ) 60,000
6,000 x1 x10 =
4,300 4,300 0
4,300 4,300 0
4,300 4,300 0
‘1. 300 300 0
‘2_ 4,000 4,000 0
54,116] 49,360 4,756
4,617 5,607 -990
4,617 5,607 -990
912 1,272 -360
1. 0 140 -140 (70,000 x 1 x2 ) - ~140,000
280,000=
2. 912 1,132 -220 (10,000 x30 x1 ) - -140,000
440,000=
(20,000 x4 x1 ) - 80,000
160,000=
200 200 0
1. 120 120 0
2. 80 80 0
1,460 1,960 -500
1. 1,460 1,960 -500 15,000 x6 x1 = 90,000
(50,000 x6 x1 ) - 180,000
480,000=
(50,000 x6 x1 )- 10,000
310,000=
(40,000 x 10 x1 ) - 400,000
800,000=
1,060 810 250
1. 120 120 0
9 - 2017-10-11




SCRIPT ERROR

2 ( : )
)
940 690 250 50,000 x5 x1 = 250,000
135 135 0
135 135 0
850 1,230 -380
850 1,230 -380 (10,000 x5 ~200,000
x 4 ) - 400,000=
(9,000 x7 x10 ) - 180,000
810,000=
1,692 2,100 -408
1,692 2,100 -408
692 1,100 -408
240 300 -60 (50,000 x4 ) -60,000
- 260,000=
452 800 -348 (300,000 ~148,000
x 2 ) - 748,000=
(100,000 x 2 200,000
) - 400,000=
1,000 1,000 0
1,000 1,000 0
34,000| 34,000 0
34,0000 34,000 0
1,467 2,075 -608
1,467 2,075 -608 (10,000 x5 -100,000
x 8 ) - 500,000=
(10,000 x3 -197,000
x 10 ) - 497,000= ’
-331,000
(45,100 x 2 x5 ) - 782,000=
4 ) 20,000 x 1 x 1 20,000
3,951 3,501 450
1,200 1,200 0
2,751 2,301 450 90,000 x5 x1 = 450,000
2,825 2,648 177
848 848 0
1,977| 1,800 177 17,700 10 x1 177,000
24,957 24,976 -19
10 - 2017-10-11




SCRIPT ERROR

( : )
)
10,830 10,830 0
14,127| 14,146 -19 (100,000 -840,000
x5 x2 ) - 1,840,000=
10,000 x 10 100,000
x 1 =
(87,000 x5 -853,000
x4 ) - 2,593,000=
50,000 x1 x1 = 50,000
(90,000 6 -540,000
x1 ) - 1,080,000=
(10,000 x 6 35,000
x 2 ) - 155,000=
(600,000 x 1 100,000
x1 ) - 700,000=
(10,000 x27 x1 ) 81,000
- 351,000=
(10,550 x 20 49,000
x1 ) - 260,000=
(40,000 -230,000
x3 x9 ) -1,310,000=
7,000 x 1 7.000
x 1 =
241,300 x5 2,413,000
X 2 =
1,100 x 35 39,000
x 1 =
5,000 x20 x1 = 100,000
800 800 0
800 800 0
6,417 6,253 164
6,417 6,253 164
6,253 6,253 0
2,720 2,720 0
533 533 0
3,000 3,000 0
164 0 164
164 0 164 € ) 55,000 110,000
x1 x2 =
( ) 9,000 54,000
X6 x1 =
7,390 1,400 5,990
7,390 1,400 5,990

11

: 2017-10-11




SCRIPT ERROR

( : )
)

7,390 1,400 5,990

7,390 1,400 5,990 599,000 x 10 x1 = 5,990,000
148,723| 138,095 10,628
38,026 34,916 3,110
26,879 25,570 1,309
6,560 6,560 0
3,560 3,560 0
3,000 3,000 0
200 200 0
200 200 0
240 240 0
240 240 0
120 120 0
120 120 0
1,500 1,500 0
1,500 1,500 0
17,259 15,950 1,309

5,479 5,150 329 50,000 x6 x1 = 300,000

29,000 x1 x1 = 29,000

11,780 10,800 980 5 4 = ) 20,000 x 1 80,000

E . :) 20,000 x 1 900,000
1,000 1,000 0
1,000 1,000 0
11,147 9,346 1,801
200 200 0
200 200 0
1,356 1,356 0
1,356 1,356 0

12 : 2017-10-11




( : )
)
1,340 1,340 0
740 740 0
600 600 0
4,190 4,190 0
1,200 1,200 0
2,990 2,990 0
180 180 0
180 180 0
2,681 2,080 601
2,201 1,600 601 338,000 x1 x1 = 338,000
131,500 x 2 = 263,000
400 400 0
80 80 0
200 0 200
200 0 200 10,000 200,000
x1 x20 =
1,000 0 1,000
1,000 0 1,000 25,000 x1 1,000,000
x 40 =
108,627 100,509 8,118
108,627| 100,509 8,118
20,772| 29,772 0
20,000/ 20,000 0
2,400 2,400 0
7,372 7,372 0
300 1,000 ~700
300 1,000 ~700 (500,000 x 2 ) - ~700,000
1,700,000=
5,492 6,574  -1,082
5,492 6,574  -1,082 (99,000 =12 ) -1,188,000
- 2,376,000=
106,000 x 1 106,000
x1 =
13 - 2017-10-11




SCRIPT ERROR

( : )
)
33,086| 22,986 10,100
33,086| 22,986 10,100 10,000 x1 x 10 = 100,000
v xs - 100,000 10,000,000
10,440 10,640 -200
10,440 10,640 200/, 00 00 (100,000 x2 ) - ~200,000
3,264 3,264 0
3,264 3,264 0
4,500 4,500 0
4,500 4,500 0
8,256 8,256 0
7,656 7,656 0
600 600 0
10,848 10,848 0
9,953 9,953 0 25,000 x1 x12 = 300,000
(500,000 x 1 300,000
x 2 ) - 1,300,000=
895 895 0
2,660 2,669 0
2,660 2,669 0
2,070 2,670 -600
1,000 1,000 0
1,000 1,000 0
1,000 1,000 0
1,070 1,670 -600
370 370 0
370 370 0 410,000 (50,000 x5 x1 ) - -60,000
60,000 x1 x1 = 60,000
700, 1,300 -600
700 1,300 -600 (350,000 x1 x2 ~200,000
) - 900,000=

14 : 2017-10-11




SCRIPT ERROR
. ( : )
‘ ‘ (G
‘ (30,000 x 10 x 2 400,000
) - 1,000,000=
0 4,500  -4,500
0 4,500  -4,500
1. 0 4,500  -4,500
0/ 4,500  -4,500
0 4,500 4,500, oo (3,500,000 > 1) - -3,500,000
R (1,000,000 x1 ) - 1,000,000
503,033 403,119 99,914
15 2017-10-11




